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1) "Once in a Blue Moon" means -

1) always
v 2) very rarely
3) nearly
4) hourly

AT : Once in a blue moon
English Meaning: very rarely.
Bangla Meaning: 71

Ex. Sentence: He comes round once in a blue moon.
Bangla Meaning: (1 AIHe QT O A |

Source: Hello BCS Lecture

2) The first Prime Minister of Bangladesh Mr. Tajuddin Ahmed was born in

1
2
3
v 4

Cumilla
Munshiganj
Manikganj
Gazipur

AT : STROWI TR Y& FER 10 T3 STSRIPR (SETR WS5HG BRI TR S0
TSR PR | O 0T GNETS! (T8 3 AT A7 HTOT EF AT AT | BIorGwHId TRaR
ARFACCR AU AT \3 FHTOT SRATE WAoH @0 f&retd | TS y9ay 57 e
YT ST I TR AT AIRF AT PR |

N~ N S S

3) International Environment Day is

1) November 16
v 2)June 5

3) February 16

4) March 7

A : P9 1T Mast oifts I21 ¢ T Regaron arendafod IS AR S Odolk HIKIC
AR FEOTOR FCH 21T st | 3 Fafbros Sifosar FaRie AR FaeiEst (United




Nations Conference on the Human. Environment) &F XIS | 13 IO XIS
YDA FER € (WP SY T ORI | I3 FIPIIS P I3 516 IR SO TR SOl |
O (A3 ARG 27 I3 T #1feto 2w wmskw | s A fATfeto 2 Y»ag e |

4) The highest revenue earning source of Bangladesh Government is-

1) Holding Tax

v 2) Value Added Tax
3) Import Tax
4) Income Tax

AT : VAT 1 Value Added Tax OIiQ F&T7 TS 1 1 o0 | 9310 AT Oy (T FeT
SIS 31 20 A9 391 @ 371 A0 27 O3 OG0T |

5) What does Fin Tech stand for?

1) Finance and Technique
2) Financial Technique

3) Finance and Technology
v 4) Financial Technology

1T ; R Qi oo Td e 18, a1 207D WY (@Tqid FPB GRIT AR O @
YRR 2R IR PT W 10K I W Financial Technology @3 5% ©1-3 FinTech

6) Which river of Bangladesh originates in Tibet?

v 1) Brahmaputra
2) Surma
3) Jamuna
4) Padma

TN : IR TRISCER TT TG RN W oF s IEE FHO@ 7| 97 BeATS fBaeww
P TR J1a51 SRR (RoR0, 51d) | PO QKT e a3 it AR AT R |
oKD I3 AR AT TUECAT | RORCO B oG8 Z00 T (FIG 2, b¢o RATHER 21 Aoz s

PER |

7) What color does green and red make?

1) White

2) Maroon
v 3) Yellow

4) Purple



Y ; RoafT T 72 (T, TS \3 A1) (A3 T} e I B AfF |

AT : WCEAR SRS XT3 Ko, 9L, I, Al

9) W' U3 RFATOTLP < PTAL?

v 1

N

) DX
) o]
3) TABT
)

e

N

AT = T /ROy oWy eIy, OIS, T |

10) 67 1A IAGATY ST TR G2

1) B
2) 5 3HI A1
3) S{<esITS
v 4) 50
AT 2 IATATY JPERA ATT RATG BT AT FGI (Sd) | BTAL, IS (Y8Y)

SN fTUCZd SRR IR | 514 3T FAT (S»dv) st fIwred aay Gigd | )
TRUEIT (S983) SIS I AURd FIfaP I |

11) 311 o QG713 W 1B ?

Gk

X3 RearsierRd
OISR

BIRIG)

1
v 2
3

N
N’ S S’ S

AT ;TR - e SRR TR THARLT | 5T (IS ARIK Y TTors ey |

12) b= @1ait @1 ==t Fa?
1) (oG



AT : 51, JEI, BT, (B19R, T, BISW, (5, GFF Zonf @1 x7= 1 IRZ0 2 | By 5717
U0 BT *¥T | AR LI -0 X LA S S|

13) A b3 TP X7 @I ?

1
2
3
v 4

G
ST
RIS
1

~— ~—r ~— ~—

T = ST A AT X778 Sof, Wiz, [gga, PN, TX, TN PR, ISP 2051 |

14) Fov& *Fiibd SifaRoen 62

AT+ FIeR A3 1% RO Forel+S |

LT APATACD, 70 XTHI TET AT T O R Q72 TR ¥z od /ifd I aPpsera
OHIRO 2 AT O SR 2R PTZIPIE. R O KT 2R FRIF 29377 Wfie <% 7o fHfero
A QT XTH ARTE TS GRIE A& 2 | BRI, AT + e = Rmyren |

15) OF (AP ARG IE * P SRPIDS 7ot 5?2

T 2 A (A ARG IR’ IPI0 NP A . AP -APTMpd /fran Ko «m/
9K, APAISCG |

16) ITAA T390 PfeT FPfeT PioeT' U3 AP 'FTAE @ PR @ ReG?

1) dACTQ |
2) I a q



v 3) WA 4 &
4) TomId Q §t

T : DTAE ™ Q7 (@) A T RSRE | R PTad o 15779 | WAiR a6 1 ot 0,
1R WP PRSP T |

17) "GEIR T AISKRTH 53T WY @TAfG?

AT : SR I IR S RS | 'Recs [Forer Qs o ‘T G51Y | IR
foor 51RO W o7 TN | AR FATG' ISR W T G ' |

18) ST’ *RT104 AR GPTAIL ?

1)
2)
) St
RSEl

TGO
v 3

N

AT : ST X[ AT 5K, I901, Gt 375, ki, b, ©nfa, @, ogfe, sy,
AR, TEAAI, ATy, e, TR, corfafs affafs, )

AT : TP PRI SRR KO (@7 | B DT WA PIRITISCE A8 IR

O, R NG 1, (59VY), 'IFTOT I’ (Y98R), T (d»88), oL BRIK fofe"
(>»8b), T AT (S»¢4), 'FEAT AR ST (SDUY) |

20) (AL 9 dM YK @ALAM' (I SA1?

1) WO 92312

v 2) TR 2R
3) FATATPAT IRJI2
4) TGP I=JI2



AT : G TG M T = CFIATR FYTACATN IZII2 AT | BT, IR FACH IR Sy
IRZO IR @IAT DX TM FABAT (A9 2T, B O FLTIACATIN IR AT I |

21) 734" P19 2P ROy *m?

AT : @ ROT 7R-T I I8 (N T SR T @RI, O1-3 SRS KO | a8 JYR fHoced
BT = HYIOT, B3 T-R BT = ORT, 0@ TE@R ¢T¥ A1 BT = RoTo! PR ST = SIRFT 3051 |
QT8 73, 53, I, GRS, F5T |

22) 734 Rl 574 Ao 2 5 72T U3 W TRV dATH 12

AT = T TP TR X ROT \3 FRATH 20K R JITg I FRIABIG] AP IR, B
BT TRIRT I | TS TRR ‘oM SR a3 <iiRkie | @@ds 3@ Mg @ IT X3 11

23) P AR AP IK “AATRR TP’ -

PGd
&l

v 1

W N

)
)
) G
) PP

N

AN : AMRE TIPS PO | PO "I TR TR (TP | TR GIP-PT | T BTP- QT |

24) We often — victim of circumstances.

1) felt

2) fallen

3) did fall
v 4) fall

AT 2 IS Fall victim to TR Ao 41, 20, FRosrg 1 RLST2Te 23T | ICPIR D13 DTET

a3 AIRFBRT AR 2B



25) The three year old was —in her refusal to taste spinach

1
2
v 3
4

recondite
didactic
resolute
fortuitous

~— N N S

TN : IR0 Resolute in her refusal TR OR WHEPIE T WRES 1 75 AR | AR
Recondite ST ; fas0 | Fortuitous R i, Qe8| Didactic Tl Rrergers |
oI | IR T3 fod I24 IR @I Forfaey (s Rem) 1 (A0 7 TR |

26) The antonym of" Cynical "is

1
2
3
v 4

Pessimistic
Gullible
Equivocal
Liberal

~— N N

T : Cynical taRPIRTNRK WBAT | Liberal I ; XK | Pessimistic ZoPTeR
78 M | Equivocal-T&IEP | Gullible-310e aRoRAsT |

27) We were surprised—his failure.
1)in
2) for
v 3) at
4) out

T : Surprised at A APGYIEO 23| (943 | was greatly surprised at his
stupidity.
PR Y3 AT O 5RO TR AR |

28) Choose the incorrectly spelt word:

v
2
3
4

Occassion
Commission
Accommodation
Occurred

~— N N S

AT : Occasion-GIEr @1t fafe I6a” 801 Commission Sad o |
Accommodation-faRmid . I8 Occurred -G fafe I6ARK S|




29) The synonym of "Mutiny" is

1
v 2
3
4

Malignity
Revolt
Deep
Moron

~— N N S

N : Mutiny Revolt ka2 Malignity sTSK [icadt Moron W5 57 | Deep 5T,
T |

30) | want to speak English fluently; — she knows Franch.

AT : NPT WGPG , 97K, 1ol ol Moreover 31 1Ad Moreover she knows
French XJ | I O3 TOTaPT 3RO HREATOIE BT I | WIPG ol @ SING
QI |

31) Choose the correct meaning of the idiom: "Kith and kin".

v 1) Blood relations
2) Seniors
3) Juniors
4) Neighbors

14T 2 Kith and kin @ QrR-99d | @94 : Safowan has no good relation with his
kith and kin.

32) Rahima's legs were so severely injured in the accident that she did not
become fully again until more than a year.

1) decadent

2) exemplified
v 3) ambulatory

4) portentous



TN : IR0 She did not become fully ambulatory S &7 #fRi#{ofeI 2600 7%
T 11 9ATE, Ambulatory 9 300e 798 UFd | 53, Decadent T Ffig IExemplified
O BAIRA SRPIR 0T O TR 3 | Portentous Y Oiowsih | PN N3 A6
IR 1T ACOT TRTFFSIR TRE e @ Fofd 1T I2@08 @R ST “ @ “1fispefer 2itco svva
AAd|

33) You can count — him to get the job done

AN : fARGR T T AT Count on/ upon I | AP A3 FTSID IR Tlf JiI O B[
fE PO #MAT |

34) The antonym of ‘promulgate’ is:

1) Propagate

v 2) Suppress
3) Advertise
4) Dignify

AT : Promulgate-26 11 Suppress - 78d 3411 Advertise - RSs19/d 13311 Dignify-
M 719 11 Propagate - I/ 1

35) | succeeded—the task myself.

1) of doing
2) to do

v 3) in doing
4) to doing

M7 : Succeeded in doing something T TN f[PZCO STpet I PN 2037 |
AP T3 T fAD3 FTAD FAO 0 AT |

36) The more hemoglobin one has, the more oxygen is carried to — cells.

1) our
2) their
3) its

v 4) one's



T : One I Subject R IR 20 B TR Passive case O 5KH2 One's 37|
Y Ffowd 38 One of the + ... plural noun + his/ her ...
@ad3 One of the students has done his duty. IPR AL3 TR To @RI earard @y,

O @1 o @R wfgcey <o 21|

37) The synonym of "Inadvertent' is

1
v 2
3
4

Unavoidable
Unintended
Unbiased
Inherent

~— N N S

I : Inadvertent Unintended-SskTd, SE@c@istt | Unavoidable Serfkan|
Inherent- o1k | Unbiased faReors |

38) The police is looking ----- the case.

1
2
3
v 4

) after
) on
) up
) into

1T 1 Look into H1td 261 78 11 1 W option (d) 537 BB | @) option X (o
| PR look after T G - ST FT 9% Look up & Dictionary - (8 CUia|

39) Which compute memory is never erased?

14T : ROM aTT BRN 2PTo3 4Td AT | S0 "YRore PP GATER (] IR BT IR
g STRATSE, SRCNE 1 IS F1 I a1 B2 9@ Read Only Memory I 2
IO 5T6] PR Slf ACITSAN 5 (1571 I8 PRHS ZRIGIR FRIPRFG AP | &R G512
S[J32(d3 (AT BT AR QTG T3 T | P FRIAR I% X 07 I7F0 T 02 IR a1}

40) Which living bird lays the world's largest egg?

1) Eagle
v 2) Ostrich
3) Owl

4) Vulture



AN = SO (Ostrich) UF APTRL I8 \3 SUGAH TFFH AATRI | AMPPR FRHT TG
AR DTRee UK REITE | 931 Aiifid Qo W | Ao f68-3 9RIAR s7gze fH|

41) USB stands for

1
2
v 3
4

Universal Serial Bitrate
Uniform Serial Bus
Universal Serial Bus
Universal Standard Bus

~— N N

T : USB 3 s|@#f & Universal Serial Bus. B31C08 26aibd Y 38U 157 3%
BBUHR FCMET FEOBHAAF R FRTST PHFR Tl) FHREICET FCA (T (9AT6 IR AT W, BID
BSANR (NG I 2 |

42) If 18 is 15% of 50% of a certain number, what is the number?

AT : R, AT x

" X 19 50% =50%/100

Q[IC, (50%/100) x (15/100) =18
= 3x = 18x%x40

= X = (18x40)/3=240

43) A man travels for 2 hours at 30 miles an hour and he covers 60 miles in
the next 3 hours. What is the average speed per hour for the entire trip?

1) 18
v 2)24
3) 45
4) 36

T : (T 2V 2 TET WfOFs B = 30x2=60 T3
.. Average speed = (10 19/ & = (60+60)/(2+3)
=120 131/ 5 T

= 24 FIZF/ATT



44) Aslam bought 5 apples at Taka 10 and sold 4 apples at Taka 10. What will
be the rate of profit?

25%

30%
20%

33.33%

1)
2)
3)
4)
TN 2 5 T ACATH FTFT = 10 T
.1 0 Qo T et =10/5 = 2 TRe
RN, 4 0 Ao RFTgen = 10 51
.1 10 AImore) RETaey « = 10/4 = 2.5 010
*ToPd1 TS = (25.2 - ) X 100) % = 25 %

45) Which is the largest trading block in the world?

1) NAFTA

2) SAFTA
v 3)E

4) ASEAN

AT : ReI s_E 16 WAaRod (&6 EU 13 RT3k RO 3w 1iafen<s @i a1 WTO.

The European Union (EU) is a supranational political and economic union of
27 member states that are located primarily in Europe.[7][8] The union has a
total area of 4,233,255 km2 (1,634,469 sq mi) and an estimated total
population of nearly 447 million. The EU has often been described as a sui
generis political entity (without precedent or comparison) combining the
characteristics of both a federation and a confederation

46) What is the smallest unit of data transmission?

1) Bytes
v 2) Bit

3) M

4) K
T 2 IRATR ST ARG IR 0 (<) VAT S (9F) TLICP FGH Bit (Bit T Binary
Digit) I 2| 3 Bit X GO0 A3 A @R \3 FTOTORT OIS (B0 \3 BT ST
W3R (BT PIAGIAPAR GNP T | THAE (BUT AMIF-2MIER 2 (Rate) RoR-faarT wmr
(TOT \3 T AR Ty KT AP AR I9T0 2|



47) Which one of the following fractions is greater than 1/27?

N3 (T S0 1/2 W IG ©f (I TR G [WI6F 29 Follow FI:

AUMN1/2x2/[5=5>4 -~ Q4MN1/2> 2[5
54 :
HEE,1/2x 47 =7<8 . Q4NN 2/3 <4/7

] 4/7 BAHG 1/2 (G IG | D12 HST W |

48) If 4 (x - (2/3))=0, what is the value of x?

v1)2/3
2) 8/3
3) -8/3
4) -2/3

AT : (WA, 4 (X - (2/3))=0
=Xx-2/3=0/4 =0
LX=2/3

49) If (x +y) =8 and (x - y) = 6, what is the value of xy?

v1)7
2) 6
3)1
4) 3

I : OSATANZ, X +y =8 I XYy =6
Xy = ((x+y)/2)% - ((x-y)/2)?

2 (8/2)% - (6/2)? = 64/4 - 36/4
=(64-36)/4=28/4=7

50) Which of the following numbers cannot be the last digit of a squared
number?

1)1

2)0
v 3)2



4) 4

QAT = I57 LA CE TF 0 L0 M | (a8 (10)2 =100
I5( SR CUI T 1 IO AT | (T8 (9)2 =81

I5( ST CUT TF 4 IO A | (T8 (8)2 =64

g I51 SRR CIET TF 2 TS 9 1| O3 SEF 2P T (C)

51) Where will the FIFA World Cup 2022 be held in?

1
2
v 3
4

Germany
England
Qatar
Brazil

~— N N S

AT 1 23 OF RPIPT OIS 3033 N PTONH TG A | BT, 3029 FER 30 OF POI
RPPTor T 1 CIISIR WERDT, T \3 PTG |

52) Who is the creator of the masterpiece "Mona Lisa"?

1) Van Gogh

2) Michelangeloans

v 3) Leonardo da Vinci
4) Giotto

I : Ficara vt cowR face g @ e At wrFd ved fenaaid 1y fofde | g
g RUTs oads =18 La Gioconda, GG 7§ FADGTE O f2FT, 75 SICo T O} 7§
PR, T SIfed R 7J 355

53) What is the capital city of Uganda?
1) Prague
2) Helsinki

3) Nairobi
v 4) Kampala

AT 1 BTG ATSHTAR qTe T DTN | WK FAK T8 AT SIS Xifcye | Sy, fo
TSI T8 T FETR | ATRISER ITOHIAR JTd S W[ANSd | fRPaeTeos IToIaR Jard
XA @A |

54) The area of a rectangle is 40cm? and one of its sides is Sem long. What
will be its perimeter?

v 1) 26cm



2) 20 cm
3)13cm
4) 28 cm

TN : CFAMT W9H 9T = 40cm?2/ 8 cm
=5cm

. T AR5 = 2 (O + o) 9P

=2 (8+5)cm

=2 X 13 =26cm

55) (V74+V7)2 =7?

1) 49
2) 98
v 3) 28

4) 21

T : O AR, (V7+V7)2 = (2V7)2 = 4x7=28

56) The winner of the Nobel Prize in Economics in 2021.
vi1
2

3
4

Joshua Angrist
Michael Kremer
William D. Nordhaus
Robert B. Wilson

~— N N

AT 2 303 AN WAANHG @IS 2RZH (A2 (BTow ITG, (G fG 1S 3 83wt
TG 38R | (Go® I X5 WAATTO TRAER Gy A3 TG \3 38 PRIPRT 5TooR:E foeg
STRENE TS | 03 FR-FT (I |

57) The Head Office of Asian Development Bank (ADB) is situated in-

1) Dhaka
v 2) Manila

3) Tokyo

4) Bangkok

~— N N S

AT : ADB A5 20 33 TSI Sy e | G371 5 7o RofeTs1iaead Sifaetrr| 1 3 778
5951 60T w4 5 1 BT T ST T RG5O \3 RPN 53 (AP AYHER IR ST
COTSTRR BT 2T PRSI ST 271 1|



58) Find the sum of interior angles of a parallelogram.

Sum of interior angle = (n-2) x 180°

Where n is the number of sides in a polygon
AIRAOT: parallelogram has 4 sides, son = 4

Sum of interior angle = (2) x 180° = 360°

59) The average age of a family of 6 members is 25 years. After a 45 year
old member leaves the family, what is the average age (in years) of the
family?
1) 22
v 2)21
3) 20
4) 19
AT : 6 S ST IR S8 =-6 x 25 = 150 IZH |

. 5 Gid A UG STd1e = 150-45-= 105 I29
.. IO TGK 5TC = 21 IRJ |

60) Which of the following is a prime number?

A
A W N P
H 00NN O

AT = > 00 So A Ty 8 b GNfTTd 572231 Iz | IS 3, 0, @ <2 Q

61) The length of Padma Bridge is



AT 2 M@ GO 16 Oilf w.5¢ Aok W3 919 Sb-.do Ao | &6 o 83 b 32 =17ra 8d
i

62) How many miles can a motorist travel from 9:55 am to 10: 15 am at a
speed of 40 miles per hour?

v 1) 13.33
2
3

)
)
)
4)

20
40
15
AT : ¥ = 10.15 - 9.55 = 20 A0 = 1/3 T

. TSR 7JY = 51 x 5 = 40 x 1/3 = 13.33 miles

63) The full form of “Wi-FI” is:

1) Wireless-Facility

2) Wireless Fiction
v 3) Wireless-Fidelity

4) Wireless Field

AT : Wi-Fi G 9091 Wireless Fidelity, \3T3-12 1 SRS (POIAD 202 1P -0
TR ORREE A 11 IR6\S 3OS IRER I @1 AP0 NoGRNP BWHsTRod 3BRICA0
SHeCT1sT 53T RO OR (@0\3TR LT (O 5T WM 2RI PO M | A7 TGS X |[EEE
802.11. afb WiIMAX Q3 G ToPFRPO IR0 |

64) Amartya Sen received Nobel Prize in

1) 1988

v 2) 1998

3) 2008

4) 1978

AT : Professor Amartya Sen TGRS Soob S @IEE S[FR 2T | BTET, 203D
S WAARKS @R “R/ER (T2 (GRoG PG, (O % apief3rs 3 93 GRS 35@s|
(TRST I H TS TRACAR Ty 7% WIS \3 3R PRSHT Fo01F fA SIRENK Ty
A3 PRETH (A |

65) What will be the fraction of 4 %.

1) 1/20
2) 1/50
3) 1/75



v 4) 1/25

AT = QACd 4 % = 4/100 = 0.04,
Wo™d a) 1/20 = 0.05;

W™d b) 1/50 = 0.02;

WP ¢) 1/75 = 0.0133; QR
Wd d) = 1/25= 0.04.

66) Which of the following is a social media company?

Linkedin
Google
Amazon
Apple

AT : Linkedin X RSas QiREEDS A1 (CPTAIICK SRR QISR Qb0 SIS0 |
TGP QISR A3 FRBT0 (PPTERICK @RI IRRR PR AP | THFINE PIACPIATR TTST
SO U3 - 7e TRAFG | Google 5 R SKGE Q@1 IR/ZS Search Engine.

vl
2
3
4

S— N N N

67) 90 is 75 percent of which number given below?

1) 100

2) 80

3) 110
v 4) 120

1A = 4], x 9T 75 % = 90 = 75%/100 = 90
- X = (100x90)/75
=120

68) Who is the founder of WikiLeaks?

1) Bob Marley

2) Howard Riddle
v 3) Julian Assange

4) Howard Leaks

NN : GfeTd 9/ ST (Julian Paul Assange) TG SIRIATME, AP, FRROTR
s | TS5 727 Tenfos B3fFferest W7 244Td faiR 1 e (s11ord af 2R Ty RS |
WikiLeaks 8 TFRA 200 e 2o 2



69) From which country, does Bangladesh import the most?

AT 1 2030-3) TRITR AT FRGE @RI T B 519 (AT 50,060 . T (Tetiz
TR | TR JFATE (AP T PR H80¢ . TR (TR TIn) |

70) The number of Stock Exchange in Bangladesh is
1)1

AN
e
w s N

AT ; IR A& fo’ige 51287 2 Bangladesh Securities and Exchange
Commission 52 BSEC BSEC 3 Wi 525194 7370 | 9318 DSE (Dhaka Stock
Exchange) @3’ CSE (Chittagang Stock Exchange).

71) What is the time zone of Bangladesh UTC ?

1) UTC + 4
2) UTC + 3
v 3)UTC + 6
4) UTC + 5

M : UTC 93 <91 2 Co-Ordinated Universal Time, Qi FeT0 QIBSIToP ST
ST T | 28 IBT ST Base 41 Wik If% I3k 3 03 51T IT 29 | A%a GMT d
S & TBT Q15T B ML ST fAT 31 230 |

72) Where is the Headquarter of the European Union?



T : European Union 3 31 7 JICETS, QTSI ORFG | SE4, S SRR doet
(3¢ T YeQ ST TPHRG QT piod ) F6ETITR 36 Rt 21501 20 | ZBET 3B e
PN AT D AT Do N | A7 AP ST 20 6 TR o TR J2AT SR T

O TPFT \3 BT AT * AIRARP A OF TR ICR T CPTTA S-S AR TS \3
SR IR 2501 3T |

73) The value of 3- (-10) is how much greater than the value of -10-(-3) ?
1)6

N

(®Y)
P Jd O

v

I

4

A 1 -3-(-10)-{-10-(-3)}
= -3+10-{-10+3}
=7-(-7)=7+7=14

74) What is the value of x in the equation 3x- 15-6 = 07?

)7
) -9
)
)

v

~ W N
O 00

MY 2 3x -15-6 =0
= 3x-21 =0

= 3x =21

= 3x =21
x=21/3=7

75) If the cost price is 25 % of selling price, then what is the percentage of
profit?

Ty : 4i,

RPTFE 100 TIPT Q9L T 25 TP

" BTG = 100-25=75 G

= XToP1 G = ((75/25)x100) % = 300%



76) Who is the writer of the "Harry Potter" series?

1) J. K. Rowling
Roald Dahl
Jacqueline Wilson
Roland Jacques

2
3
4

vvvv

AT : JIR TR FHT21 fS7 Preycoms 3300 foicaczd J. K. Rowling. a3 fificew ers siegd
arg IR 2R WS 75 AT GoTd |

77) You have saved 135 Taka by purchasing a blanket with 15 % discount on
it. What is the quoted price of the blanket in Taka?

AT = 15 % 20,
15 TTPT IIBTCAT T SITPTEET = 100 TTPT X
. 135 TIRPT 1511 IR OIfeTprees) = (100x135)/15= 900

78) Which of the following is a C2C e-commerce platform?

1) Aarong.com
v 2) Bikroy.com

3) Alibaba.com

4) Daraz.com

T = STIP-(AP-SIT2P XD TP P SIS 2 JPTRP T \3 S P TY | ARG AP
ITSIR \3 W3 feTTe Q< I SRR I3 G0 TSy SN mo 2 |

79) 1024 Terabyte =

1
2
3
va

1 Exabyte
1 Gigabyte
1 Zettabyte
1 Petabyte

~— N N S

14 = 1 Kilo Byte (KB) = 210 (Byte) 11,024 Byte.
1 Mega Byte (MB) = 220 (Byte) 11,024 Kilo Byte
1 Giga Byte (GB) = 230 (Byte) 311,024 Mega Byte
1 Tera Byte (TB) = 249 (Byte) d1 1,024 Giga Byte.



1 Peta Byte (PB) = 220 (Byte) 11,024 Tera Byte.
1 Exa Byte (EB) = 2°0 (Byte) d1 1,024 Peta Byte.

80) If each side of a rectangle is increased by 20 %, the increase in the area
of a rectangle will be —

1) 40%

2) 50%

3) 35%

v 4) 44%
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20 % I odf 2 (x + 20 % of X)

= (x+(20x/100)) = (x+x/5)=6x/5 9P
20% Mo 28 W (y+20% of y)

= (y+(20y/100)) = (y+(y/5))=6y/5 49T
<. CFaPe a9 = (((11xy/25)/xy)x100)%
= ((11xy/25)x (1/xy)x100)% = 44%
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